E}E 3.10 (Muller [30]) M(PK) = C[Gz, 85, S6, 515],
Sg = 810
52, = 5553, —271. 53G2ses?) + 274Ghs%,

+271. 8% 5%G,s3s10 — 273Ghs2s10 — 2 - 33sE + 271Gl s

s15 12 B89 % BIHR R I Resnikoff DB -BEBRRLA—DEDTHS. TDH
FHIRD & > RSN BRFETHTRDNDS. &, € M, (Tg) EWhb, BEE
heC(i=1,...,13) VT

s?s = Dbisty+ bagisesiy + bsgasiy + bagasisio + bsgssasio
+b6g;{36310 + 57950810 + bssf; + bggés‘é + bloggsg + bllggsg
+b1295236 + b139%5

&5, WAD Fourier R ZEZHB U T, by,... ,bi3 ZRDB.

3.5 Nagaoka DR
Nagaoka IZfEVy, RDEEFEHVS.

Jo = s Jio = s10, (3)
Jig = 2_2(J62—-G2J10) (4)

kB< k) J6aJ10’ ']12 € MS(PKaZ)'

EE 3.11 (Nagaoka [38])
(1) D(G2) = 94, D(J6) = 24, D(Jy0) = 0,D(J13) = A
(2) f € M5, (Tg,Z) LT

D(f) = cogf + 1t 3A + -+ cigh AT+ ...
ERT L, ¢, c3,05,. .. (XEE

ZOEEEY
D(MZ,(Tx, Z)) = D(Z[Ga, Js, J12])-

f € M (Tg,Z) IZHUTD(f) = 0 B8RILTIUE, £k M2,(Tk,Z) IZBWT
Jio CEIVEINS. Gundlach DERELBHOZ L 275 &

M, Tk, Z) = Z[G2, Js, J10, J12].
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